MATH 16020 PrACTICE EXAM 2 Mon., OcT. 16, 2023

Please show all your work! Answers without supporting work will not be given credit.
Write answers in spaces provided.
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1. Evaluate the definite integral.
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3. Evaluate
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5. Evaluate the indefinite integral.
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6. Evaluate the indefinite integral.
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7. After t days, the growth of a plant is measured by the function 2000te™

20t inches per day. What is the

change in the height of the plant (in inches) after the first 14 days?
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8. The velocity of a cyclist during an hour-long race is given by the function
v(t) = 166te~*2" mi/hr, 0<t<1

Assuming the cyclist starts from rest, what is the distance in miles he traveled during the first hour of
the race?
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9. Which of the following is a partial fraction decomposition of the rational expression show? Do not
explicitly solve for the constant.
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10. Which of the following is a partial fraction decomposition of the rational expression show? Do not
explicitly solve for the constant.
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11. Determine the partial fraction decomposition of
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12. Determine the partial fraction decomposition of
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16. Determine if the following integral is proper or improper.
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18. Determine if the following integral is proper or improper.
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19. Evaluate the following integral;
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21. Evaluate the following integral;
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22. Evaluate the following integral;
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23. Evaluate the definite integral

/2005:vd—3|6—2
NodX w2 (i (L y,
ooog SX'I'Q Ju»‘aj{x N->00 ) 5§ U
S , N
i = lm Ly, \swﬂ
—’\LTO Sjn ] N—»MS &t
Linjsteal— Lol al) = os
B Nwoo

OO

foo de
2 51’+2_
N

“\_ FLM’\C\‘.\ on 14



P(‘l‘\: 3ODD€— 0. 630+

24. The rate at which a factory is dumping pollution into a river at any time ¢ is given by P(t) = Pye™**
where P, is the rate at which the pollution is initially released into the river. If Py = 3000 and
k = 0.080, find the total amount of pollution that will be released into the river into the indefinite
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27. Set up the integral that computes the AREAwthth region bounded by
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29. Find the area of the region bounded by y = 62 — 22
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30. Calculate the AREA of the region bounded by the following curves.
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31. Calculate the AREA of the region bounded by the following curves.

y=2 and y=2?
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32. After t hours studying, one student is working Q1 (t) = 25 + 9t — t2 problems per hour, and a second
student is working on Q2(t) = 5 — t + 2 problems per hour. How many more problems will the first
student have done than the second student after 10 hours?
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33. The birthrate of a particular population is modeled by B(t) = 100036 people per year, and the
death rate is modeled by D(t) = 725e%019¢ people per year. How much wll the population increase
in the span of 10 years? (0 <t < 20) Round to the nearest whole number.
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34. Let R be the region shown below. Set up the inte- 2y ]
x
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35. Set up the integral that computes the VOLUME of the region bounded by
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36. Set up the integral that computes the VOLUME of the region bounded by
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37. Find the volume of the solid that results by revolving the region enclosed by the curves y = —, y = 0,
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38. Find the VOLUME of the region bounded by
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39. Find the VOLUME of the region bounded by
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40. Set up the integral that computes the VOLUME of the region bounded by
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41. Set up the integral that computes the VOLUME of the region bounded by
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42. Find the VOLUME of the region bounded by
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44. Find the VOLUME of the region bounded by
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45. Set up the integral that computes the VOLUME of the region bounded by
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46. Find the VOLUME of the region bounded by
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47. Find the VOLUME of the solid generated by rotating the region bounded by
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48. Find the VOLUME of the region bounded by

z+3y=9, z=0, y=0
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49. Let R be the region shown to the right. Set up 37
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50. Set up the integral needed to find the volume of the solid obtained when the region bounded by
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52. Find the VOLUME of the region bounded by

y=32% =0, y=27
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54. Using thefShell Method, set up the integral that computes the VOLUME of the region bounded by
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56. Using the(Shell Method, ket up the integral that computes the VOLUME of the region bounded by
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58. Using the‘ Shell Method, 5&‘5 up the integral that computes the VOLUME of the region bounded by
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